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Help Robot find Rover.  Make a path of increasing 
differences.  You can only move to a box with a larger 
difference.  Draw a line to show your path.

5 5
- 2 5

5 2
- 2 5

8 2
- 3 9

5 5
- 4 5

4 1
- 2 7

5 9
- 4 4

7 6
- 5 2

8 8
- 5 7

3 2
- 2 8

5 6
- 4 9

6 3
- 5 4

3 7
- 2 6

2 9
- 1 6

9 9
- 8 3

8 4
- 6 7

7 9
- 1 8

9 9
- 3 5

1 8
- 1 5

4 6
- 2 2

4 1
- 1 4

9 6
- 1 2

8 4
- 5 8

9 5
- 4 4

9 2
- 7 4

6 4
- 4 2

8 9
- 7 5

9 0
- 7 8

8 0
- 4 1

3 3
- 2 5

9 1
- 2 6

8 8
- 7 4

1 4
- 1 3

5 3
- 3 9

7 6
- 5 3

7 7
- 5 0

8 9
- 3 2

9 9
- 5 3

8 8
- 2 6

8 2
- 2 4

4 2
- 1 6

4 7
- 2 2

8 3
- 1 2

8 0
- 1 7

6 8
- 4 0

6 2
- 2 4

6 0
- 1 8

7 2
- 3 2

6 1
- 2 2

5 1
- 1 3

8 8
- 5 1

7 6
- 4 2

6 5
- 3 4

8 1
- 5 2

4 3
- 2 3

6 4
- 2 0

5 7
- 1 2

7 4
- 2 6

7 8
- 2 5

9 0
- 3 6

9 5
- 3 9

7 2
- 1 5

7 3
- 1 5

6 7
- 5 5

8 7
- 6 7

6 8
- 3 6

8 5
- 3 3

7 8
- 3 2

6 8
- 1 8

9 7
- 3 8

8 1
- 4 2
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END 7 x 22 ÷ 2

10 + 1 x 11 x 7

6 x 2 - 8

5 ÷ 5 x 3

END

5 + 10 - 6

2 x 4 - 8

12 - 4 ÷ 4

1 x (12 - 11)

5 + (8 x 9)

END 5 + 1 + 10

12 x 4 ÷ 11 x 9 + 9 + 11

(4 + 7) + 6

6 + (1 + 3) x 9 6 + 11 + 2 - 4

END

4 x 10 x 5 + 2

11 - 2 - 4

12 + 7 - 9

(11 - 2) + 9

4 x 2 x 12

11 + 10 + 4

5 + 2 ÷ 2

START

96

Draw a line from START to END.
0 3 96
15

Cross out the number you use above and then write it below.
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Cross off the number that does NOT belong.

30, 33, 36, 39, 42, 44, 45

Why does __________ not belong in the pattern?

Cross off the number that does NOT belong.  Hint: Look at movement of digits!

95696, 56969, 95696, 69695, 96956, 69569, 95696, 56969, 

69695, 96956, 69569, 95696, 56969, 69695, 96956

Why does __________ not belong in the pattern?
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We held a dog wash on 
National Good 
Neighbor Day. We 
washed all the dogs in 
the neighborhood. It 
was free! We spent 
$14.86 on shampoo and 
$23.72 on towels. How 
much did we spend in 
all?

David made a display 
for the school library. It 
was about recycling. He 
used three sheets of 
poster board for the 
display. He bought the 
poster board at Fred's 
Art Supplies. It cost $3.30
for the three sheets. He 
gave the clerk $5. How 
much change did he 
get?

Wendy is playing 
"Penguin Parade" with 
her best friend. The 
spinner for the game 
has twelve spaces. Five 
of the spaces have two 
penguins on them. The 
rest have one penguin 
on them. On Wendy's 
first spin, what is the 
chance the pointer will 
stop on a space with 
one penguin?

8 4

8

4 4

12

8

4

44

4

8

The perimeter is .

Write two odd numbers that 
when added together equal 
the even number 40.

geess

geese

gese

gaese

How many days are in 
November?

Write a word to describe June.
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This is the look at one cube
that is turned around a few times.

6
2

1

3
5

4

4
6

1

This pattern can be folded into
the cube.  Fill in the missing boxes.

6 2 4

Round to the nearest hundred.

4,131 is rounded to 

9,584 is rounded to 

8,593 is rounded to 

Max's birthday is in September.
Jenna's birthday is six months 
after Max's birthday.  What 
month is Jenna's birthday?

Do you use A.M. or P.M. to 
write the time you eat 
breakfast?

4 20

Locate where to put the number 482,000
and label the point D.

469,000 489,000

If K = 4, then what does K + 2 
equal?

Fill in the missing fractions.

3
10 , , 5

10 ,

What temperature is four 
degrees above freezing in 
Celsius?

If j = 14, then what does j - 8 
equal?

Write the length in millimeters.

cm 1 2 3 4 5 6

9 7
+ 5 7

Circle  the  complete  subject.

Mom  and  I  went  on  a  picnic.

The factors of 6 are 1 2 If  = 8, then  + 8  = 
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What is the value
of the BIG digit?

3,062,671

Mrs. Rodriguez brought 
pecans to school. She 
gave each student four 
pecans. There are 17 girls 
and 11 boys in the class. 
How many pecans did 
she need to give each girl 
four pecans?

7 8
- 5 0

8 6
- 6 0

Write the number for 
five hundred 
ninety-three thousand 
four hundred six.

What is one-tenth of 80? Color 3
10 .

What are the first four 
multiples of 4? 3 1

+ 3 1
1 7

+ 9 3
3 4

+ 3 4

How many seconds are in 
nine minutes?

Make a pattern.
Start with 21.
Add 5; subtract 4.

, , , , ,

3 3
1 1

+ 2 3

3 2
3 1

+ 1 5

7 7 - 5 = 5 0
+ 5 0

word root enni can mean year perennial, centennial
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171
- 79

301
- 47

23
+ 95

68
+ 58

242,7
+ 628

075,01
- 388

324,6
- 632

514,1
+ 825

037
+ 02

166
- 06

659
- 47

807
+ 22

93
- 52

74
+ 21

96
+ 41

39
+ 24

630,61
- 935,9

239,01
- 835,2

483,01
- 854,2

630,21
- 566,7

593
+ 43

515
+ 07

499
+ 53

238
- 72

086,1
+ 313,7

543,3
+ 511,4

047,3
- 605,1

143,6
- 033,4

5
+ 7

+ 2

+ 9

32
-

41
+

12
+

42
+ 6

- 9

12
+

82
-

91
+ 6
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0 2 2 1 9 3 8 - 5 = 9 - 6 0 - 1 =
9 5 7

Use the pieces above to help you fill in the runaway math puzzle.

Write a fraction to represent what is shaded. Add.  Fill in the blanks.

+ 2 7 9

2

7 9 14 16

Calculate the sum of 3, 15, 
and 6.

Which is longer: one foot or 
ten inches?

lio

lion

liihn

lionn

Circle the nouns.
At the state fair, my family ate hot 
dogs and funnel cakes.

1 - 4 = 8 -
1 - 9
2 1 5 - = 7 - 4

6 - 0 = 5 - = 3
8 - 6 =
= 8

- 9 =
0 - 1 - 0 2

= -
9 6
-

9 - = 9 - 7
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Multiply

Multiply.

9 x 10 = 90

9 x = 90

x 9 =

10 x 9 = 90

9 x 12 = 108

x 12 = 108

12 x =

12 x 9 = 108

8 x 12 = 96

8 x 12 =

x 8 =

12 x 8 = 96

2 x 3 = 6

3 x = 6

2 x =

3 x 2 = 6

3 x 3 = 9

3 x 3 =

x 3 =

3 x 3 = 9

3 x 3 =

3 x 3 =

8 x 12 =

9 x 12 =

2 x 3 =

10 x 9 =

3 x 3 =

8 x 12 =

10 x 9 =

8 x 12 =

9 x 12 =

8 x 12 =

2 x 3 =

2 x 3 =

10 x 9 =

3 x 3 =

2 x 3 =

9 x 12 =

3 x 3 =

10 x 9 =

9 x 4 = 36

4 x 9 =

4 x 9 =

5 x 2 = 10

2 x 5 =

2 x 5 =

12 x 2 = 24

12 x 2 =

2 x 12 =

11 x 8 = 88

11 x 8 =

8 x 11 =

11 x 8 =

12 x 2 =

5 x 2 =

11 x 8 =

9 x 4 =

9 x 4 =

12 x 2 =

11 x 8 =

9 x 4 =

11 x 8 =

9 x 4 =

12 x 2 =

11 x 8 =

9 x 4 =

5 x 2 =

12 x 2 =

6 x 5 =

1 x 12 =

8 x 3 =

4 x 7 =

2 x 10 =

9 x 12 = 10 x 2 = 10 x 1 = 2 x 8 = 4 x 12 =
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END 50

7

68

8

END

8

23

885

248

9

END 36

22325

31

21 30

END

139

144

149

530

138

10

787

START

6 + 11 x 12

Draw a line from START to END.
5 ÷ 5 + 7 6 + 11 x 12 7 + 12 - 3 + 5
1 + 10 - 1 - 3

Cross out the equation you use above and then write it below.

https://www.mathworksheets.com


Name:
Week of August 16
MathWorksheets.com

2000 - 600 = 

A) 7,000

B) 1,400

C) 1,405

D) None of the above

3.8 - 2.9 = 

A) 8.1

B) 6.7

C) 7.9

D) 0.9

What is the best way to estimate 156 x 1,933?

A) 300 x 3,000

B) 100 x 1,000

C) 200 x 2,000

D) 250 x 2,050

How many of the following numbers are 
even?
49, 76, 24, 84, 6, and 2

A) 6

B) 1

C) 2

D) 5

What number is missing from the following 
sequence?

104, 96, 88, 80, 72, ____, 56, 48

A) 63

B) 64

C) 57

D) 66

9 x 6 = 

A) 53

B) 79

C) 16

D) 54
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X 9 3 2 8

5
5 x 9

15
5 x 3

10
5 x 5 x 2 5 x

40
5 x 8

63
x 9 x 3 x x 2 x x 8

x 9 x 3 x x 2

10
x x 8

3
27

3 x 9 3 x 3 3 x 3 x 2 3 x 3 x 8

8
8 x 9 8 x 3 8 x

16
8 x 2 8 x 8 x 8

x 9

24
x 3 x x 2 x x 8

x 9 x 3 x x 2 x

72
x 8

3
27

3 x 9 3 x 3 3 x

6
3 x 2

6
3 x 3 x 8

Can you think of a five-letter word 
that has the vowel E in it?

Write the length in millimeters.

cm 1 2 3 4 5 6

9 5
- 8 0
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Write the final part of each math analogy.

two thirds of six : 4 :: one half of twelve :

Explain why you think your answer is correct.

16, 21, 26, 31 : 36, 41, 46 :: 51, 56, 61, 66 :

Explain why you think your answer is correct.

CGGCGGCGG : CGG :: FBFFBFFBF :

Explain why you think your answer is correct.

six tens and seven ones : 67 :: five tens and four ones :

Explain why you think your answer is correct.

born in 2013 : 2 candles on birthday cake in 2015 :: born in 2009 :

Explain why you think your answer is correct.

6 groups of 2 : 4 groups of 3 :: 12 groups of 5 :

Explain why you think your answer is correct.
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Peter Lucas Rose April Jason

Facts

Peter is three years old.

Jason is sixty-two years older than April.

Rose is eighteen years older than Peter.

April is twice as old as Peter.

Lucas is seventy years older than Peter.

How old is Peter?

How old is Lucas?

How old is Rose?

How old is April?

How old is Jason?

What Words?  Your Words!
Fill in the boxes with letters to make words.  Each box is worth points.  Earn points by filling in as many boxes 
as you can.  Sum up the points you earn for each word.

Make a Word Sum

G R O
1

U
2

P
6 12

3

M A
1 2 4 8 14 20

Make a Word Sum

T O
1 2 4 8 14

1 2

O
4 8 12 18
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